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"L RESTORE 101: CLEAR
FOR V=7480 TO 7685 STEP 5

READ
POKE
NEXT
GOTO
DATA
DATA
DATA
DATA
DATA
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A,M,S,L,D
V,A+200,M+5,5+5,L,D+5
'
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-186,0,1,0,0
-114,0,0,2,0
-59,2,0,0,~2
-57,1,1,0,-2
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"M'" RESTORE 700:N=0
IF N>235 GOTO 880
A,B:A=.182A:B=.364%(B+90000)

READ

X= INT (A/256):Z=A-256X:Y=

This program “P4” stores a lot of
constants in memories. Most are for
moon calculations.

After it has run, it does some checksums
then it starts the cassette player to load
the main Merlin II program (and P4 is
wiped).

Keying MEM ENTER on a Merlin II
shows 525, indicating that 525 bytes are
unused—but actually they are occupied
by the P4 constants. '

INT Z: IF Z-Y>.5 LET Y=Y+1

POKE (7717+N),X: POKE (7718+N),Y
X= INT (B/256):2=B-256X:Y= INT Z: IF Z-Y>.5 LET Y=Y+1



286
287
300
310
320
330
340
350
360
700
710
720
730
740
750
760
770
780
790
800
810
820
830
840
880
890

891
892
896
898
900
902
904

906
910

175/9
Pege 2/

) GE>Z¥~”'»3),

POKE (7719+N),X: POKE (7720+N),Y

=N+4: GOTO 281

"J": RESTORE 700: USING "###.##"
FOR V=0 TO 235 STEP 4
X=( PEEK (7717+V)¥256+ PEEK (7718+V))/182

Y=( PEEK (7719+V)*256+ PEEK (7720+V))/364~90
READ A,B:A=A/1000:B=B/1000
PRINT 3600%(A-X),(B-Y)*3600
NEXT V

DATA 22566,-53743,344602,-59377,221178,-52874,110068,-51366
DATA 69090,-5473,158226,54317,176226,54388,315205,-32908
DATA 82765,-24513,146583,-22386,221592,44328,13613,25679
DATA 301077,29308,344790,-40630, 249064 ,-4564,203533,30749
DATA 260198,-46145,172452,-72680,80248,-16823,88056,-16034
DATA 104271,-75830,81159,22860,334641,59909,170919,12268
DATA 1881,-20784,134494,49676,81876,5379,267271,74929
DATA 331189,22103,333158,-21132,216045,-47826,190029,-14499
DATA 233097,-44132,36964,9962,274380,-11045,132606,72983
DATA 352789,19407,43621,-12590,221613,-22072,211289,-72231
DATA 61384,30120,281687,-3443,293117,-36262,87868,66095
DATA 112519,6679,115090,-16021,261749,35843,149132,462
DATA 76130,-31129,238804,-42586,257271,7204,37090,46618
DATA 263887,-13782,271170,-65834,103387,-39606,203143,-2051
DATA 160499,-55872,284620,61738,224384,338

"K" RESTORE 890: FOR N=7955 TO 7999: READ M$: POKE N, ASC M$: NEXT N
DATA "SH , "U" , HN" , "L" , 1non , "S" , "U"’ "N" , "C" , "nn , "S" . "U" , "N" , HU" , n

" HM" "O" "OH

DATA ”'N" ','L" "M" HO" "O" "N" "U’" "P" "L" "A" "N" "o "M" "A" "R" "S"
’" "’"S":"A"’ b ’ ? b4 2 3 2 2 sy * 9 ? ? H

DATA HTH , "on , 1"non , HV" , "EH , "N" , "U", HS"

DIM I(5),5(1),L(3),F(8)

"D'"D=0: FOR N=7480 TO 7689:D=D+ PEEK N: NEXT N: BEEP 1: PAUSE
""MOON=0? '"';D-8468

"C"A=0O: FOR N=7717 TO 7952:A=A+ PEEK N: NEXT N: BEEP 1: PAUSE
"STARS= 1? ";A-28083

S=0: FOR N=7955 TO 7999:S=S+ PEEK N: NEXT N: BEEP 1: PAUSE '"NAMES=
2? ';S-3228

BEEP 2:Z=D+A+S-39779: PAUSE "TOTAL = 3? ";Z: IF Z<>3 GOTO 910
CHAIN

PRINT "Z IS ";Z
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CODES

/9 = QAqMCV‘
< © /69 = INT
T A |
L ®
2 ¢
¢ D
§ €
L ¥
B
K
RS
90
K
ol L
M
A 160 < L
13 o2 = l ¢ o
6 3+ \ ¢ P
/) sPAcE 1 2 K
/ ? o £ N ;\’\ l‘,[ (g oy
/9 2 ‘ N 99 S
2 ; 1‘ g ; ; /00 T
o ~ @ / /ez/ :]/
22 % ) (1: X
B z :
2 ¥ 3 =
28 T IS ¢
206 { S ot
22 00 ¢ T
28 3 Foo
29 3 € PASSWORD LOCATION
30 @ 6% 5 On the Sharp PC 1248 the password is
& 20 A up to seven characters which are stored
J/Lj 7 starting in hexadecimal registers 02D9
32 2 % to 02DF. So if the password is “QQQQ”
(as I always set it) then PEEK& 02D9
33 3 9 will show 97 and from the list 97 is Q,
3¢ G o . the first character of the password.
3¢ 25 E "
3¢ 7\
37 1 3
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Thirty years on, I no longer fully
F6<> 3 _v oy comprehend this information. It might,

B fres however, be useful to someone who
ECAR: b Slarts § wants to see into the Merlin II program

59 236 b K on the PC 1248.
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